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1 Answer alt questions in the spaces provided
1 }
| Circle the lowest of these temperatures (1 mark]
i

': -4.9C 0'C @ 015 '.

.' ;

2 Circle the expression that is four times bigger than n. !

]' [1 mark] |

: g |

!

|

3 Circle the fraction greater than % '

i

[1 mark]

| 4 ] |

\ " 15 100 |

| |

| ", i < ;

= = [. = 0.333.... . |

0 0.3 / 2 > 0.3 i
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S(a)

5 (b)

Circle the value of 2°

10 25 ’ @ 64
Simplify axagxa+b+b MAS ‘
3”)—-4' [2 marks] '
adxexa = a2 |
a+b+p = a? 25
3
Answer a + 21:’
Simplify S5(x+3)-x+2
[3 marks]
5(x+3) -x+7
=Sk +ls-x 7
= Sx-x+ 15-72 = bx +13
Answer ((’x +13
Turn over for the next question i
|
Tum over »
BAVAMT/SI00F
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Twelve cards numbered 1 to 12 are put into six pairs. j
Each pair has a total. ;
Complete the table to show the pairs and their totals. 16 miatia] ;
Cards Total i
}
1and 2 3
!
3 ad ¢ 9 ’
i
!
“_(f__ and ___i_ 11 :
|
S e 1 14 |
__8_ and _’_’_ 19 ;
i
[0 and 12 22
T GAY ey |
I+ 3 gy, AP,
I 3}»@’”, @y/, ‘}’D/f
19: 1 ppeTo, 7 AT |
ey
O PO IINTS: 1
i
i
i L



7 § Here is a number machine.

Input

v
I
N

SNE

7(a) Work out the output when the input Is 4

¢x3 =12

Output

————

[ mark) '

2 -1 =10

Answer ,_,U

ot i e i 5 el 5 it

7(b)  Work out the output when the input is -4

(&) x 3 = -y

-— B T e —

(12 -7 = -1

iy e i g e ol -8 b

[1 mark] !

e - ek = S it G mem am e —

| Answer - “f'

|

o e —— — — i ——— —————

; Tumn over for the next question

B
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8 Here is information about the goals scored in some hockey games. i
Each game has four quarters. :
!
Goals in hockey games l
9 !
8 I
5
7 = 3 ’

1

6 = F
Number . ; - ‘
of goals 2 J ik :
4 e - 5 ! ]
HHH B nl
i O e ul
. ' y A .
1 :‘ l g‘ 4 ‘ ' E i
0 M = s o E"‘I"" | :l

Quarter i
Key: Wl Homegoals [] Away goals :

8 (a) Which quarter was the mode for away goals? |

Circle your answer. | :

! [1 mark]

1st 3rd 4th !

|

8 (b) There were 10 games. ;f
I

Work out the mean number of goals per game. g

° [2 marks] !

bel+ br8t8+7+9t5 =47 |

e |

Answer 4’ ?

v

L o

0
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Do nof wite
7

ol
, 8(c)  Intotal, how many more home goals were scorad than away goals? f
, (2 marke) ;.
| HOME : G4 +8+4 = 28 f
[ i
; Auay: 2+8+7+5 =722 .

I

: :
| - T == - - 1
— — {
| 25- 22 = 3 5
? 2
| Answer 3 f
' |
]
|
, 8(d) Rob says, :
' “More home teams must have won because there ware more home goals.” i
Is he correct? :
: Give a reason for your answer.
; f [1 mark] |

_NO. T Is PossisLe For A TEAM _TO Score !

5 GOALs _IN ONE G AmME AnD TOSE, LIHILST AmSTHEA

TEAM _MAY _SCoRE _OmLy  ONE GOAL AND Wik (,.C:.‘M (s

SCORE D AREN'T ENTIRELY REFLELTIVE OF THE OUrcone)

Turn over »

ERS
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!
9(@)  Listall the factors of 30

[2 marks]
| g [
; [ x 30 L x| 3 X [0 S x ¢ :

; _rl . ! z
Answer [, 2, 3 LS, €6 10, 1S, 30 :
| |
|
~ 9(b) A factor of 30 is chosen at random. }
What is the probability that it is a 2-digit number? I
[1 mark]
|
| [0, 15, ot 30 = 24 |
Ll Lg 7 H
; |
3 {
' I
| Answer __/g f
f 1
| i
; ]
| |
i
| !
| !
| [
i i
' }
| ;
| !

MR
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10 Each shape below has an area of 24 cm®

! Complete the missing lengths. (3 marks] |

Rectangle b em
7 = § =6

- —— o — ——

Not drawn
accurately

Triangle

——— ———— - —

-
»
(23
=

e g ey ———— -

B E—

N
\’

|

W
3

- |
A=t

_—?ZLI' -'-"—é—xbx (6

= 4 =8b
= L:ﬁ:_?

8 Turn over for the next question

e e o b o — — o T

Turn over »

N

9 ' 18/M/Jun17/8300/3F
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1 A television channal shows 12 minutes of adverts in each half hour.

How many minutes of adverts does It show from § am to 11 pm?
(3 marks])

San 7O llpm = |8 Hours

(2 AUNUTES PER HALF houk = 24 SUnUTES FER Houk

8 x 24 = 432 pumures |

12 Put these probabilities in order, starting with the least likely.

44% 1 0.404 =X
4 10 m];
0.t 0.25 0.404 ol e |

S e e i — - — —— — —— - —— ——— =

—_—— .

nih
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1 A circle is drawn on a centimetre grid. |

-

i
v
—\
. H : ;
b
T v
i \;J .
: !
I

i
i
+
1
¥
|
]
|
[}

. 13 (a raw @ tangent to the circle. !
(@) Draw o 1 mark]

- 13(b) Grace works out that the area of the clrcle Is more than © cm? l

{
Why must this be wrong? i
" e {1 mark] .

THE (IRCLE IS (ONTAmED WITHW A 3 By 3 S4UARE,

, AND THE AREA OF THIS BS0URE /S 3Ix 3 = 9o’

i

AS THE Circte 15 mwWSwe THIS S8uare, ITS AREA

..... et B = —_gp . e —— -

P ——— e & weewr mimam amre
- g 0 Waand et =R =

——
e —— Wrhe e e = —

Turn over for the next question

. e

name
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12 i 24
bax

14 (a)  The front elevation, side elevation and plan of a solld are ail the same, as shown. ;
!
é
i
E
Write down the name of the solid. '
- [1 mark] .
Answer _ (_ U B € o {
i
' 14(b)  The front elevation, side elevation and pian of a solid are all the same, as shown. .
!
2
{
t
:
i
¢
' !
Write down the name of the solld. ,
' [1 mark] |
i

: SPHERE

' r . . —— e —— . 4 W N P o -

e ]

[ e ———y — i — L i

I

"5 MATHS MADE EASY

B un 1718300095



18

MR

Show that there are exaatly five 3:d(git oubs numbers,
s

2% - g

F R - IEE T S SN K R L R L e e

P 27

(3 merke] ;

C i

3 =27 AFTER [0°. AumBER OF Jrers |

Avmerem e A L ceme G-

v

te
4 3' b MUST NOT DECREASE, S0 THE
5°: 1250 s comre yere ae HE_ |

f

(1: Z“ @ ONL)' 5. ;
_ 7,?"' }("3 @ i S s on B 5 458 o i i rre |

=512 @

10°= 000

Turn over for the next question
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18 (a)

16 (b)

W

Not drawn

6cm

14
Trangles ABC and DEF are simitar.
D
A
gcm
x cm
8 3em C
Work out the value of x.
X _ 3

Answer

Write down the size of angle y.

Answer

e a— - —— e B W el acan b = a—

MATHS MADE EASY
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+ 17 (a)

- 17(b)

18

CD and PQ are fines of length 12 cm
CE:CD=1:2 :
Mark point E on the line with a cross.

[
.
*
H

[1 mark]

-
e
~
=
g
-
=
-1
- —— S ——

c D
4:8§ = |:2 |
j
PR:RQ=1:3 !
Mark point R on the line with a cross, i
[1 mark] '
|
¥ i L] oyt ¥ 1 1 [ ] Li ¥ ¥ ¥ ¥ F
P 7~ Q |
1:3 = 3:9 j
Tumn over ior 42 next question |
!
|
t
|
!
i

i
I

Turn over »

W -
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18 A shop sells two brands of battery.

Brand A Brand B ]
Pack of 8 Pack of 6
Price £3.60 Price £2.94

One brand A battery powers a toy for 5 hours.

One brand B battery powers the same toy for 5—;— hours.

|
|
l
Which brand is better value? i
You must show your working. f
[5 marks] !

BRAND 4: 8XxS = Lo WHours !

4o _ '
az e b= - aa—P&yNaﬁ“__

A A it . 3

BrRAND 3 : bx 5.5 = 33 Yours

33 _ 1
e = 1T Hours per rovay
teatp)

! .22 > /1.0, So grand g s serrer VALUE

Answer BRAND B

ST e e s e S i S

e
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| 18 The value of x can be 2 or § l
The value of y can be 3 or 12 i
{
19(8)  Listthe possible values of xy l
[2 marks] °
L dx3=( 2xiz = 24

RS 08T Bl il s o DS RSTRTS EARAC

) g anm

_9x 3= !5..,.. Sx12_= 40

e i e S

; ’ Answer _ -.___,,.64__._,.5_,/ ZLP: 6 0

b

~18(b)  Work out the least possible value of X—2

X-y |
* I
L U7 |
gNEar [2marks].

X-yi 3= -, 7-12- @ 5.3 S-i2 =7

e

You must show your working.

W e e

| Xi 2.5 o z-¢

H
k
] 4“ '
: e & Wk e e mA @ B e G bR G Lovest possie !
| |
| Answer <S5 i
| T
i
Tumn over for the next question i
| }
| |
| ;
|
Turn over »

T
‘I‘ I [BAWJun17/8300/3F
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18 odpich o

An exam has two papers.
Anil scores
33 out of 60 on paper 1
and
75 out of 100 on paper 2

Work out his percentage score for the exam.

B 10 A T [/ S S

§0 t 100 [60 i

!
t

é
!
tamm-lf.

0.—2?5 X (00 = £2.5

£4.5 ¥

N —— s ko e+ oo 8

— ey e it e et e i il 8w o R

S

s g s o e

N gy e

e et e = e e p—

B Jan17/83000F
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19 e te
Do
‘ '
) Purple paint is made by mixing red paint and biue paint in the ratio 5: 2 '

Yan has 30 ftres of red paint and 9 fitres of biue paint.

Whumm:r%mmdwpbpamtpcanmaua?
—a
5:2 = 3017 st To USE AL 30 utkes
7

[3 marks]

B e T T e

OF RED PAINT WE Wou]) Ne€D_ 12 LiTRes oF mLue.
INSTEAD, _(ows DR USwe ALL 9 UTRES OF BLUE:

[ 2 ;
ks (2 e I
e ZZS‘. ? 22.5+ 1 = 4.5 !
Answer 3(, 5 litres é

Turn over fo: the next question

o Ay A w R b e . -t .

D e | B | ot ¢ W Pt iy . o 7 g}

Turn over b

T 2 e
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20
22 This shape is made from two triangles and four congruent parallelograms. i
!
Not drawn |
. accurately
‘ i
For each statement, tick the correct box. |
i
]
22 (a) The triangles are equilateral. ‘
‘ [1 mark] :
|
Must be true i
,/ Could be true '
4
Must be false '
i
. 22(b)  The triangles are congruent. l
[1 mark] [
!
/ " Must be true |
!
i
!
Could be true |
i
I
!
t
Must be false :
i
L H]
20 1BANun 17/8300/3F
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21 Oo not avtte

| 23(a)  The length of a pipe is 6 metres to the nearest metre.
Complete the error interval for the length of the pipe. !

} Answer _&5_;5_“ m < length < ___6_1___5_ _.m

= i -

- 23(b) The length of a different pipe is 4 metres to the nearest metre.
Olly says,
“The total length of the two pipes is 11 metres to the nearest metre.”

- [
Give an example to show that he could be correct. ;

[2 marks]

PIPE 1: 6. D inm :

| it T 2 S

: PlPe 2: G4, 3 im (10 VEAREST

¢ METRE)

Turn over for the next question |

|

! ;
1’
i

| |

} !

' |

!

!

| I

i &
Turn over »

AN
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2 e
box
; 24 AB, CD and EF are straight lines.
Not drawn 1
accurately

1‘ ]
| z
| |
}
| |
1
r {
| |
| |
| |
| |
1 !
24(a)  Avaassumes that AB and CD are parallel. '
| What answer should she get for the size of angle »? I
- ) [4 marks] |
| CORRESPONDING ANGLES : 7% + [O = 3x - 70| l
i Plx+ 30 = 3x e |
i =Tx 30 =2C 2!
' x=30 = 3x-20 ,/ |
f -'—'(3%30) -20 =320° |

| o B
- y=180 -70= (D |
; ‘ Answer IO degrees ;
|

[T
2 2 (B/AMLun 17/8300KF
MATHUS MADE EASY



24(b)

23

In fact,
AB and CD are not parallel
angle w Is 60°

What effect does this have on the size of angle y?
Tick a box.

g
g

T

2

3

l/ yis bigger I.
!
y is the same ‘
!
yis smaller
|
Show working to support your answer. —
Orrosite Amgeess  (w =) (60 = Zx+ 0]
———— e+ e - R .,___:(o i _,_..:;_ 29( j !U
e xX25 = x 4
| |
_X=25= 3x-20 = 3(25) -~ 20 = 55
oo = (80 -55 = (25 > 1o
u -
Turn over for the next question
|
i 7
Turn over »
1BMAun17/830073F

MATHS MADE EASY



25 (a)

25 (b)

2 4

24

There are 720 boys and 700 girts in a school.

The probability that a boy chosen at random studies French is %

The probability that a girt chosen at random studies French is % ;
i

Work out the number of students in the school who study Franch.
Z Bmatb];

g X F20 = 480 |

00 s g 4026 =900 -

PR — - e e m——

cmm -

Answer ?OO ~ ’

Work out the probabliity that a student chosen at random from the whole school '
does not study French. '

Bmarks]:

__..(Z._Z_Q._‘f F00) - %0 = 520 pomy stupy |

FRENLH 3,

s s |
Goom) 7

= B e A e e ) s

lm ﬂmlﬂ [BAVIUN17/830013F
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25 Do no! wrile

oulide tha
bow

26 Circle the expression equivalent to o —dx =12 |

[1 mark];'

(x=4)x=8)  (x+Ix=4)  (r-12)(x+1) |

|

744 = -4 2x(4)= -1 ,

27 How are the whole number solutions to A and B different? i

A Sove 3<3r<18 5

B Solve 3<3rgi18 a

[2 marks] ;

! - |

_4_',_- 3._3_(“,,"’._.-31*‘&-.5/__{/_ C/ !SJ /‘/ (7 it |

Bi Bx = q', 51 ‘/ il ) ,SI ,‘/ ,71 /8 !

1 — 4 : g 7 7 # i

FORA: 3x=3 = o=/ por w8

For 8: 3x =18 = x =6 pormNA ]

 THE REST OF THE VHOLE NUMBER SuLuTlons

ARE v fotu A AnD B

| END OF QUESTIONS |
|
I
J

.' {

|

|

?

}

178
e —
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